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24.

Give any 10 items dealt in section 80C of the Income Tax Act.

a.u@mrr@‘r auf& &L_LLb lﬁ]lﬂm 80(C)-an ee,gg 2 aam 2 (mLLg sefle) rCaoantd

usenens CasmenTs.

Mrs. Meena has income of Rs. 9,00,000 (i.e., Long term capital

gain Rs. 50,000, Pension before standard deduction Rs. 3,60,000

and interest on Tamilnadu Government Securities Rs. 4,90,000).

She pays Rs. 15,000 as insurance premium annually. Find out

the tax liability if she is a resident woman and her date of birth

is June 5, 1960.

miodl. emmelle aumLomed ¢m. 9,001,000 (Sisreug) B sra @mgm‘
gsmubd @ 50,000 flows sPdbE et Qupp @uigpdwibd
@. 3,60,000 wpmib HDETH <ire usHrhisala@mba QuDD el .
5. 4,90,000) @b e e sMISLH eneowrs . 15,000
Gegisgifpnt. Sieut QpHurede siBulmaen Guer wHpb <iers
Yphs Codl epOen 5, 1960 eraried aufic QurmitienLid setr(H191q S&eyLb.
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16.

17.

18.

19.

A tea manufacturing company made a profit of Rs. 40,00,000
during the previous year 2018-2019. The company grows tea
leaves in own tea gardens and also manufactures tea. Ascertain
the agricultural income and non-agricultural income of the
company.

20 Cslleow 2pusd Hpead s ps @@ 2018-20196
@. 40.00,000 @arub rlgwg Celawsmer Qembss Caulamess
GorlLmsafler auerisding. Cogib Csllaa o husSubd QLA s|.
Doearsdler  efleusmu  au@reand  wHmib efleusmuld  j@es
QUBEUTEP WIS SeRTL_HliLiayib.

Raju informs you that his total income computed under the
Income Tax Act is Rs. 80,000. You are required to calculate his
tax liability for the assessment year 2019-2020.

auprar aflf sl ghlar £ sawddliuc  grgoeier ‘QLDrl"é',g
al@orend . 80,000 @i, 2019-2020 AU G acbmnq_,rpasrrsor
<jeurgl afLQurpLiLGsmens sarsdGrser.

Mr. Appu submits the following information for the previous
year 2018-2019. How will you adjust the losses shown by him?

1 Particulars - Rs.

- Income from salary <. [+] 50,000
Income from house property  [-] 7,500
Bu‘siness loss [-] 15,000

. Bank interest ' [{+] 30,000

Em. Sy aphomsl e 2018-2019 Slarrau(mLd efleunmhiseneré
ST Sg|emanmi. Sieuit &mig 1l efleumiseT 5Cip Qan(ésiiL Gerang|

Sl gseT . " e
FIDLIGT QU(BLOTEID [+] 50,000 -
| SL(& QemsHmHa aumorend  [—] 7,500
. eflwrumy BLLLb - [-] 15,000
cumdl aui'lg , [+] 30,000

ewmumy pLL_Seg ereuaimmy sramarimii?

Compute total income of Mr Kumar for the assessment year
2019-2020. .

Particulars Rs.

Income from profession 6,80,000
‘Capital gains 14,000
Winnings from horse races 2,000
Winning &om camel races 1,700
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21.

wHUECEH pear® 2019-20206 Hwm, @wrller Qwrss aumorasms
FeT&E (S, ; ‘
eleupmhisar €.
Qe apenm eumomenp  6,80,000
LPQUSETT <4, TILIMBI G 6T 14,000
Géerliupsul Geuniser 2,000
U LsU upsw Ceuhilser 1,700

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Mr.Anand, a manufacturer, acquired a factory building on June
10, 2014 for Rs. 30,00,000. The building is acquired by the
Government on May 5, 2016 for which a sum of Rs. 70,00,000 is
paid as compensation on February 5, 2019. Ascertain the
amount of capital gains. The building is subject to depreciation
at 10% per annum. He purchases another factory building on
June 3, 2019 for Rs. 40,00,000.

2 pusdwneryrdlu . s euiser mOear 10, 2014 iamm @
QAsrfperenas sligL smg . 30,00,000-H@ eurmdlamt. G 5, 2016
Slem SLigl LD SITETRISSFTE T hSgIsLETeTe L (B
rl(s@srenswns g5 70,00,000 5 Qugeufl 2019 iemmy
QUPBISUULLG). (POSa RsSTLE DsTansmws sarsdl(hs. sligl b
aBLsSnE 10 szeis CGoliwmasd D@ 2 LBSsULGEDS. 196 3,
2019 oetm @eut  wHEDTE  CAsmlbsTans Sl SmE .
40,00,000-p g curmiiflami. ' 4

Compute income from other sources from the following
information for the financial year 2018-2019.

S.No. Particulars Rs.-
I Amounts won from :
Lottery 80,000

Betting on horse racing 8,000
I Amounts received from:

Lottery 63,000

Betting on horse racing 42,000
IIT  Income from :

Lottery . 1,800

Betting on horse racing 1,000
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22.

{Eg‘ﬂ Spar®  2018-2019 sbupstiulL GaeuBd  SEseuDSMmETS
Qarerr(® Q&7 epemseilal(mbg QUDD auHLTAISMmSS Sawt &) (H 5.

Gl GTEHT. eluyBiseT .

I @m@@@mmﬁ)@oﬁ]@‘r_ﬁg Qeaup Qupp Qgrensser :

eom_L 80,000

GSleruuBSwD 8,000
IT  Qereupeuareundedlphg Qupp Qgranssar :

eomL . 63,000

GHerliupswb 42,000
IT1 Getreu (meuameuHHiedhHg GUDD eu(HLOTETREISET :

eom_t 1,800

GEeriuBSuLLD 1,000

Mr. Vivek transfers his self occupied property yielding an annual
income of Rs. 2,00,000 to his HUF consisting of Vivek, his wife,

his major son Ravi and his minor son Narayanan.
Discuss the following :

(a) -How the income is treated under the Income Tax Act,

19617

(b) If the family is partitioned equally subsequently, how the

income is treated?

8. aCeus em. 2,00,000 cu@mL cuHLTEID SIHD Feng) @lq.uﬂ]'([.béS@Lb

Qarsamgs g Qbg Fml (B auwg UisSwuemLbs waeear Felil wHmib
Qereupmdl waen BryTwueen ACWNT i S&D WareuHeuaTauDanm

efleundlase,id.

(=) @rdu euoner euflg e b 1961-6r Ly Gu@HLTEND 6TeuGITD

- sasALLLOSDS?

(=) @Owub &owrs GissLULLT®, @GLTEND eTeUGUTT)

samsAL_ LIS g ?
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